
3 操作步骤操作步驟製品の組み込み手順について

Installation Guide Installationsanleitung Guide d'Installation Guía
de instalación

3-1

Locked Unlocked

3-2

3-43-3

3-63-5

HDD

ICY DOCK reserves the right to change product specifications, components, 
or accessories without prior notice. For the warranty information, please 
visit www.icydock.com/warrenty.php

3-83-7

M3*4 Flat Head Screws

3-9 3-10

3-11

M3*2.5 Screws

1 Contenu
包裝說明 包装说明

Contenido
del paquete
Package Contents Packungsinhalt

2 機體說明 机体说明Información del dispositivo 本体説明

Device Information Geräteinformationen Informations dispositif

1

2

3

4 PIN POWER

4 PIN POWER

SATA-4
(SAS-4)

HDD

SATA-3
(SAS-3)

HDD

SATA-2
(SAS-2)

HDD

SATA-1
(SAS-1)

HDD

POWER-1 SATA-2 SATA-1

SATA-3SATA-4POWER-2

1

2

Device User Manual 16 x M3*4 Flat Head Screw 
& 2 x Key for Drive Tray for Device

10 x M3*2.5 Pan Head Screw 

(2 x Screw for Spare Parts)

1 EZ-LOCK

3 LED Indicator(Device Power : Solid Green ; Drive Access : Flashing Amber)

2 Drive Tray Ejection Button

1 Molex 4 Pin Power 2 7 Pin SATA

4 x 2.5" SAS / SATA HDD & SSD Cage in 1 x 5.25" Bay
ToughArmor

Copyright © ICY DOCK International. All Rights Reserved. 6501923 VER 4.0   

Scan the QR code for more product information

Cremax Europe GmbH

Weidenweg 21H

47059 Duisburg, Germany

Email: support@icydock.com


